
SOLOMON ICHECHUKWU FRANCIS 

13/ENG01/010 

CHEMICAL ENGINNEERING 

PROCESS DYNAMICS AND CONTROL 

 

𝑑2𝑦

𝑑𝑡2
= 𝑦𝐼𝐼 ,

𝑑𝑦

𝑑𝑡
= 𝑦𝐼 , 

Where y(0) = 5 ,  𝑦(0) = 7̇  

𝑦𝐼𝐼 − 3(𝑦𝐼) + 2𝑦 = 2𝑒3𝑡 

𝐿(𝑦𝐼𝐼) − 𝐿3(𝑦𝐼) + 𝐿2𝑦 = 𝐿2𝑒3𝑡 

𝑆2𝑦 − 𝑠𝑦(0) − 𝑦̇𝐼(0) − 3[𝑠𝑦(𝑠) − 𝑦(0)] + 2𝑦(𝑠) = 2[
1

𝑠 − 3
] 

𝑆2𝑦(𝑠) − 5𝑠 − 7 − 3𝑠𝑦(𝑠) − 3 ∗ −5 + 2𝑦(𝑠) = 2[
1

𝑠 − 3
] 

𝑆2𝑦(𝑠) − 3𝑠𝑦(𝑠) − 5𝑠 + 2𝑦(𝑠) − 7 + 15 = 2[
1

𝑠 − 3
] 

𝑆2𝑦(𝑠) − 3𝑠𝑦(𝑠) − 5𝑠 + 2𝑦(𝑠) − 7 + 15 = 2[
1

𝑠 − 3
] 

𝑆2𝑦(𝑠) − 3𝑠𝑦(𝑠) + 2𝑦(𝑠) − 5𝑠 + 8 = 2[
1

𝑠 − 3
] 

𝑦(𝑠)[𝑆2 − 3𝑠 + 2] − 5𝑠 + 8 =
2

𝑠 − 3
 

𝑦(𝑠)[𝑆2 − 3𝑠 + 2] =
2

𝑠 − 3
− 8 + 5𝑠 

𝑦(𝑠)[𝑆2 − 3𝑠 + 2] =
2 − 8(𝑠 − 3) + 5𝑠(𝑠 − 3)

𝑠 − 3
 

 

𝑦(𝑠)[𝑆2 − 3𝑠 + 2] =
2 − 8𝑠 + 24 + 5𝑠2 − 15𝑠

𝑠 − 3
 

 

𝑦(𝑠)[𝑆2 − 3𝑠 + 2] =
5𝑠2 − 23𝑠 + 26

𝑠 − 3
 

 

𝑦(𝑠) =  
5𝑠2 − 23𝑠 + 26

𝑠 − 3
 .

1

𝑠2 − 3𝑠 + 2
 

𝑦(𝑠) =  
(𝑠 − 2) (𝑠 −

13
5

)

(𝑠 − 3)(𝑠 − 1)(𝑠 − 2)
 



 

𝑦(𝑠) =  
(𝑠 − 2) (5𝑠 − 13)

(𝑠 − 3)(𝑠 − 1)(𝑠 − 2)
 

Using partial fractions; 

5𝑠 − 13

(𝑠 − 3)(𝑠 − 1)
=

𝐴

𝑠 − 3
+

𝐵

𝑠 − 1
 

5𝑠 − 13

(𝑠 − 3)(𝑠 − 1)
=

𝐴(𝑠 − 1) + 𝐵(𝑠 − 3)

(𝑠 − 3)(𝑠 − 1)
 

5𝑠 − 13 = 𝐴𝑠 − 𝐴 + 𝐵𝑠 − 3𝐵 

5𝑠 − 13 = (𝐴 + 𝐵)𝑠 − 𝐴 − 3𝐵 

𝐴 + 𝐵 = 5 … … . (1) 

−𝐴 − 3𝐵 =  −13 

−(𝐴 + 3𝐵) =  −13 … … … . (2) 

Subtracting equation (2) from (1) 

−2𝐵 =  −8 

𝐵 =  4 

𝐴 + 𝐵 =  5 

𝐴 + 4 =  5 

𝐴 =  5 − 4 = 1 

𝑦(𝑠) =
5𝑠 − 13

(𝑠 − 3)(𝑠 − 1)
=

1

𝑠 − 3
+

4

𝑠 − 1
 

𝑦(𝑡) = 𝐿−1(𝑦(𝑠)) = 𝐿−1 [
1

𝑠 − 3
+

4

𝑠 − 1
] 

𝑦(𝑡) = 𝑒3𝑡 + 4𝑒𝑡 

 

 

 

 

 

 

 

 

 


